Name: ____________________________ Date: ____________ Per: ________

Transformations Review

Answer each question below, be sure to record your answer in the space provided: 

_____ 1) Which represents the image of G(4, -3) after a reflection in the x-axis?

(1) G’(- 4, -3)

(2) G’(-4, 3)



(3) G’(4, 3) 

(4)G’(- 3, 4)

_____ 2) Which represents the image of X (-3, -7) after reflection in the y-axis?

(1) X’(- 3, 7)

(2) X’(3, - 7) 



(3) X’(3, 7)

(4) X’(7, 3)

____ 3) What is the image of (x,y) after a translation of 3 units right and 7 units down?

(1) (x + 3,y – 7) 

(3) (x – 3,y – 7)

(2) (x + 3,y + 7) 

(4) (x – 3,y + 7)

_____ 4) Which of the following represent the coordinates of A(2, - 4) after a rotation of 90o?

(1) A’(4, 2)


(2) A’( - 4, 2)



(3) A’( 4, - 2)


(4) A’( 2, 4)

______ 5) Which choice below may not be used to name 
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6) The vertices of (ABC are A(0, 2), B(0, 5), and 
C(7, 2). Find the image of (A’B’C’ under r y = x. 
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7) The vertices of (ABC are A(- 3, 5), B(2, 1), and 
C(5, 3). Find the image of (A’B’C’ under T3, - 2

[image: image8.emf]
	8) The coordinates of the vertices of (ABC are A(- 3, 2), B(3,5), and C(4,2). Find the image of (A’B’C’ under a counterclockwise rotation of 270. (R270). 


	9) Triangle ABC has vertices with [image: image10.png]


 Graph and label ∆ABC and ∆A’’B’’C’’, the image of ∆ABC after [image: image12.png]R_500 T(_35)
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10) Precisely define each of the three rigid motion transformations identified below: 

a. [image: image16.png]Rc,50(AABC)



 ____________________________________________________________________
b. [image: image18.png]T(-2,5) (AABC)



 ____________________________________________________________________
c. [image: image20.png]=



____________________________________________________________________

11) Translate ∆EFG along [image: image22.png]CD



, below. 
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12) Rotate ∆ABC 60o about point P. 

[image: image24.png]
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13) Determine the line of reflection of the pre-image and its image below: 
14) If a pair of supplementary angles are in the ratio 3:6, determine the measure of each angle.

15) If a pair of complementary angles are in the ratio 2:4, determine the measure of each angle. 

16) If a set of vertical angles can be represented by 2x – 5 and 3x – 25, respectively, determine the measure of each angle. 

17) If points A, B, and C are collinear with AB = 3x + 10, BC = 2x + 5, and AC = 4x + 30, determine the value of x. 

18) Using a compass, construct a triangle with the side lengths given below. 



19) Determine the perpendicular bisector of the line segment below. 


20) Rotate the figure below 180o, about point P.
[image: image25.png].p




�








_1537179310.unknown

_1537179312.unknown

_1537179313.unknown

_1537179311.unknown

_1537179309.unknown

_1458985943.vsd

